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2 Set of BCM Calibration Data form Mike
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All the study are very very Preliminary Will Check with Nathaly’s result later
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According to Tyler Kutz Study

. YH3 target _ YH3 . ). chargex*[s n Y.(1—B)*charge

Yyes  YHes  CHARGE CHARGE
chargex Y (1-B)*charge
e corrl = 2 gexp CoTTr2 = 1-p J
CHARGE CHARGE

* Error from c¢/beta is around 107-4
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Some Acceptance study

* Zhihong Ye Provide a great idea

e start with a tight acceptance cut

e Scan one side of acceptance cut step by step
* Check the H3/He3 ratio
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